\ 1' MAFTOA) "Ji eclal Exanry 0@ Men-) -

@ )=
x =g
Oy x a&—l Vg |
Y= + (An -H> L | (&)
b).  h&)= 3 - %
h(x-a) -
@ — '
pe —; 7 =5 L
"‘<DL+5K7,—3) =G
x =13 = (BJ
(c); )= -3 8(1,): Pl
® gof = g&>-%) d
] N v
' ® = xfF-l62 +t0 v (3)
() @Pe - o-ua-2) =0 v
| \ (acﬂr&)@c—a}(vcb—%) =0 v
’L:’&}’L;Ql =2
il 6= B s (3))
X
9] L= d:;
alo = —l{zl Vg




@

I PSR e oud e P - W

“tr, :c—{ ]'x; +o:c”+61+01+|

aey —

X+ 20O
A ,75’ —I—a - X
C 4+ T+
-~
33X K3

_Quotient = xyx4a V'
_rem= 3x+3

. xTr8x 3 -0

s

W),

@

@




@
e \Oga(\oﬂ Y=
| loa. x "&,“ |
AT ‘/

\/ |

@
50

|
N,

T —
&'OWS oﬁ( Pﬂ(C) A S
O'F circle s

‘ e <0i3>1 e e

(3& b) ’r(fa) fas /‘
_DL,-.\Q?U"B.‘S“.*?&.S_.TO N | (A . S
(x-aYx-0 =0

| oy ond %29 - ¢ oo
| 50 o ond C(A0) Y

| Aree AABC = ibh

O
(b) My DB 2

DBLAC, diogomals of chombous S

' = 4
N = a

eporhc: gashee)
| y =-sxed Vo




ba.

90

> horizontal dnft 3 units

¢+ reflection in x-axis -V
© verfical shif+ | unit up v/
Correct order v

nx = >

‘/

n %)

—>

o (3)

x -t : \/‘
e ¥Yra Poin‘f. v
O\S\ijpx‘oi‘e v
shape -V

IN

010 T~

7 L




(‘\i)% 'S)&",(.‘,Vccmins

(W)

.

v

O\J:); \lJ 2 -5

(1”‘)
(1)
Cr)
(a)
(1)
(M)
on
HA
v
Shape




